Math 3331- HW2

1. Solve the following ODE:s (linear)

dy

(i) xy =4y + x*e (ii) (x+ 1)% +y=1Inx, y(1) =10
(i) xZ—Z + 2y = 6x° +2 (iv) Z—Z +tanxy = cos’x, y(0) = —1

2. Solve the following ODEs (Bernoulli)

) d . 1
(i) x4y =2 (i) **y —2xy =5¢", y(1) =
o d 4x d 4

<zu>x%+y=y—2 (iv) P2 +2-=x y(1)=2

3. Solve the following ODEs (Riccati)

Ldy o,y 1 _k ., Yy*+2cos?x —sin’x .
(7) ix VT x T2 Ty (i) y = 2.cos x o r=sma
o A .

(i) % +2x(y—1)=2x(y—1), y1=1 (iv) Yy +y*=x*+1, y1 =x
4. Solve the following ODEs (homogeneous)
N Ay 2x+y2 N Yy y _
(i) E-( 7z ) (it) vy —;ln;+2;, y(1) =1
/x2 1172
(iii) 3xy?y’ = x° + 4 (iv) @y _yrvrty y(1) =0

Due: Friday Feb. 9, 2018



